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Questions : 1

Which two of these shields are identical?
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Ans: B and J

Questions : 2

Which of these contains the most triangles?

Ans: B

A contains 7 triangles
B contains 11 triangles
C contains 10 triangles

D contains 6 triangles



Questions : 3

What comes next?

Ans: C

The whole figure is rotating one side clockwise at each stage. The flaps alternate outside then

inside the figure. When inside they are black.

Questions : 4

What comes next?
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Ans: B

There are two alternate sequences with a piece of each figure disappearing at each stage.






